UOK FIXED, ARTICULATED AND ADJUSTABLE FEET El TECNIDEA chg?,-?

Articulated feet (base in reinforced polyamide) @ 50 - Part. PS6 and PSX6
Piedi snodati (base in poliammide rinforzata) @ 50 - Part. PS6 e PSX6

P Sl
2

15

15°

o

il

0
W

MY
il

il
FARUURUAL

YIVIYY
il

A

g2
e » N F
Spindle measures in mm / Misure stelo in mm Spindle material / Materiale stelo
Zinc plated steel Stainless steel AISI 304  Stainless steel AISI 316 Max static load
od A H Wrench Acciaio zincato Acciaio inox AISI 304 Acciaio inox AISI 316 Carico statico
Chiave Type Code Type Code Type Code N)
Tipo Codice Tipo Codice Tipo Codice
68 45 6 PS6A CP000768 PSX6A CP000783 - -
M8x1,25 88 65 6 PS6B CP000769 PSX6B CP000784 - - 11000
130 107 6 PS6C CP000770 PSX6C CP000785 - -
60 35 8 PS6D CP000771 PSX6D CP000786 - -
M10x1,5 95 70 8 PS6E CP000772 PSX6E CP000787 - - 12000
140 115 8 PS6F CP000773 PSX6F CP000788 - -
70 43 10 PS6G CP000774 PSX6G CP000789 - -
90 63 10 PS6H CP000775 PSX6H CP000790 - -
M12x1,75 105 77 10 PS6l CP000776 PSX6I CP000791 - - 13000
120 93 10 PS6L CP000777 PSX6L CP000792 PSX6Y CPA00791
150 123 10 PS6M CP000778 PSX6M CP000793 - -
90 61 12 PS6N CP000779 PSX6N CP000794 - -
120 91 12 PS60 CP000780 PSX60 CP000795 - -
M14x2 145 116 12 PS6P CP000781 PSX6P CP000796 - - 14000
195 165 12 PS6R CPA00768 PSX6R CPA00783 - -
92 60 13 PS6S CPA00769 PSX6S CPA00784 - -
122 90 13 PS6T CPA00770 PSX6T CPA00785 - -
137 105 13 PS6U CPA00771 PSX6U CPA00786 - -
M16x2 157 125 13 PS6V CPA00772 PSX6V CPA00787 - - 16000
187 155 13 PS62 CPA00773 PSX6Z CPA00788 - -
197 165 13 PS6W CPA00774 PSX6W CPA00789 - -
237 205 13 PS6X CPA00775 PSX6X CPA00790 - -
Spindle measures in inches / Misure stelo in pollici Spindle material / Materiale stelo
Zinc plated steel Stainless steel AISI 304 Max static load
Wrench Acciaio zincato Acciaio inox AISI 304 Carico statico
od A H .
Chiave Type Code Type Code N)
Tipo Codice Tipo Codice
1/2”-13 UNC 5,10" 4" 7/16” PS6Q CP000782 PSX6Q CP000797 12000
5/8"-11 UNC 8,25" 7" 1/12” PS6J CPA00792 PSX6J CPA00794 14000
3/4”-10 UNC 8,34" 7" 5/8” PS6K CPA00793 PSX6K CPA00795 16000
Washers/Rosette UNI 6592-69
i oM M8 M10 M12 M14 M16
@E : S mm 1,6 2 2,5 2,5 3
) 2 A mm 17 21 24 28 30
:%L Code/Codice ZI | CP007636 | CP007283 | CP007284 | CP007285 | CP007289
Code/Codice IN | CP007637 | CP007286 | CP007287 | CP007288 | CP007291
Nuts/Dadi UNI 5588-65 E'E BASE MATERIAL: Reinforced polyamide black colour.
ACCESSORIES: Anti-slip pads - code: CP007264; materi-
g M8 M10 M12 M14 M16 al: thermoplastic rubber 68 Shore black colour.
<: g S mm 6,5 8 10 11 13
r Ch. mm 13 17 19 22 24 I I MATERIALE BASE: Poliammide rinforzata colore nero.
[ Code/Codice ZI | CP007634 | CP007269 | CP007270 | CP007271 | CP007275 ACCESSORI: Antivibranti - Codice: CP007264; materi-
- ale: gomma termoplastica 68 shore colore nero.
Code/Codice IN | CP007635 | CP007272 | CP007273 | CP007274 | CPO07277

N[t
18 waw.tecnideacidue.com

P



